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var height =
document. documentElement. ¢l ientHeight

var width =
document. documentElement. clientWidth
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‘ var aspect_s = height / width ‘
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var element =
document. getElementById (" adjust’)
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‘ var ua = navigator. userAgent; ‘

if
ua. match (/iPhone|Andoroid. +Mobile/))

if
(aspect_s < aspect_p)
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‘ var elml = height - 20 ‘
[

‘ var elm2 = elml / aspect_p ‘

if
(elm2 > 1360)

yes
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no

var elm2 = ) )
document. getElementByld (" mount’)

element2. style. width =
elm2 + "px’

var element3 = i o
document. getElementByld (' container’)

element3. style.visibility =
"visible’
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\ var elml = height - 122 \
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‘ var elm2 = elml / aspect_p ‘

if
(elm2 > 1360)
yes
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\ var width ¢ = elm2 + 100 \
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(width_c > (width - 20))
yes

width_c = width - 20
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var element3 = )
document. getElementByld (' container’)

element3. style. width =
width_c + "px’

element3. style. visibility =
"visible’

if
(ua. index0f (" iPad’
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